D1vISION WITH A REMAINDER II (H - SET 5)

TEST 1 1;?;6 Score: yA—

0475+ 10 = 16) 12886 + 2 =
9 934 = 10 = 17 61190 - 9 =
3 4413 =5 = 18) 25115 =4 =
1) 3678 +5 = 19) 24689 + 5 =
5 37006 - 8 = 200 13945 +4 =
60 20722 +9 = 2 6801 + 10 =
n 37611 +5 = 2) 3657 + 10 =
5 8368 + 1 = 2) 4937 +5 =
9 0940 = 1 = 24) 687 +=5H =
10) 4977 — 7 = 2) 45557 + 6 =
1) 409 = 10 = 200 2397 =1 =
129 3973 = 10 = 27 59453 + 9 =
13 109 =5 = %) H471 +5 =
1 3007 =5 = 29) 2023 -6 =
15 5498 =— 1 = 30) 76282 =9 =

Mathematics: Division - Level 8 - Horizontal - Set 5
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